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1. George Elliot is the pen name of
a. Mary Anne Evans
b. Charlotte Bronte
c. Jane Austen
d. Frances Burney

2. Mr. Tulliver wants Tom to have an
education that will
a. Make him a miller like Mr Tulliver
b. Help him to deal with men like
lawyers
c. Make him a teacher like Mr Stelling
d. Not be very expensive

3. Mrs. Tulliver’s sisters are

a. Mrs Glegg, Mrs Pullet, Mrs
Moss

b. Mrs Glegg, Mrs Deane, Mrs
Moss

c. Mrs Deane, Mrs Moss, Mrs
Pullet

d. Mrs Deane, Mrs Glegg, Mrs
Pullet

4. Maggie runs away to the gypsies
because
a. She wants to learn magic
from them
b. She thinks they are her
cousins
c. She feels they will value her
d. They have invited her

5. Lawyer Wakem buys the mill because
a. He feels sorry for Mr Tulliver
b. He feels pity for Mrs Tulliver
c. He thinks itis a profitable
asset

d. He wants to avenge himself
on Mr Tulliver

6. When Mr Tulliver loses all his lawsuit and
becomes insensible, Tom decides to
a. Ask aunt Moss for the money
she owes Mr Tulliver
b. Destroy the credit note held
by Mr Tulliver
c. Take Mr Moss to court
d. Wait for his father to recover
and take the decision

7. Maggie and Philip meet clandestinely in
a. Red Deeps
b. Mudport
c. Dorlcote Mill
d. Garum Firs

8. Tom does not want Maggie to see Philip
Wakem because
a. Philip has hurt Tom
b. Tom'’s father has forbidden any
friendship with Philip
c. Tom is scared of Philip’s father
d. Philip has a bad reputation

9. Maggie eventually elopes with
a. Stephen Guest
b. Phillip Wakem
c. Bob Jakin
d. None of the above

10. Tom manages to pay all those who are
owed money by Mr Tulliver
a. Through the opportunities he finds
with Mr Deane
b. By willing to put aside all that he
learnt from Mr Stelling
c. Through sheer hard work and good
investment
d. All of the above



